quatro fragdes, ordem das operagoes

Nome: Encontro: Data: Pontuagao:

1
= 45 % ~ =5+
4

-

2 2 1 2 3 3
—+ —=10= —F - X == - =
3 P50 2737272
%—Exé-i—l: 4()><l+1()+§:
3 5 5 4 2 5
1 1 2 1 1 1 3 3
X+ = —+_+xZ=
4 4 5 2 2 5 2 5
%—l+lx%: 8xl+4—§:
5 2 5 5 5
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quatro fragdes, ordem das operagoes

Nome: Encontro: Data: Pontuagao:
2 2 1
44><%+4+1:__3_:7_ 45xl+5+1:§:2_
3 3 3 3 4 4 2 2
2 2 64 4 1 2 3 3
3 057075 743 773737370
1 1
2 3.3, 116 0 haror 321353
3 5 5 4 300 5 5 5
I 1 2 1 17 1 1 3 3 8 3
x4+ = 4+ +Ix=2=1Z
4 4 5 2 20 2 5 2 5 5 5
2 1 1 2 1 1 3 2
_—_—|—_X_:(—__) 8X_—4—_:_
5 2 5 5 50 5 5

www.snowmath.com


https://www.snowmath.com

